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Choose the correct response for each multiple choice question.
’,2/ ) Which of the following points are from a ) If f(x)=2x + 3 and g(x) = -x? + 6, which
linear function? 7V ) of following is FALSE?
A) (-1,1), 1,1, -1,1), (1,-1) A) f(1) =g v B) f(5) <g(5)
B) (1,2),(2,2), (1,3), (2,3) C) f(-3)=g(-3)=-3v e

C) (0,3), (0, 0), (1,5), (5,1)
2,3>, (3.4), (4.5).(5.6)



Sketch the graph each of the following functions using the shifting method.
7) ax) = |x-3] +2 b(x) = Vx =3
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Write the function for each graph in Vertex Form.
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Choose one correct answer for each multiple choice question.
11) Which of the following quadratic functions 12) Letp(x)=3x*+2 and q(x)=x + 5. What

has a down like a frown shape and has a is the equation of p(q(x)) in standard form?
vertex at the point (-5,2)? A) p(a(x)=3x> +30x+77 )
B) y=(x+5)*+2 B) pQX)= 3% +x + 7

C) y=—(—5)2—2 D) y=(x-5)*-2 C) p(a(x))=3x> + 10x + 27
D) p(q(x))=3x2 + 77

gl = 2 (x+5) " +2
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Solve each of the following systems ALGEBRAICALLY - Show all of your work and clearly state
/ the solution as x= and y=.
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Complete the following Composite function problem:

14) Let f(x)=2x-5 and g(x) = x* +2x - 1

@ a). Find f(g(0)). b. Find g(f\(JO/)).

3(0): o%+2.(0) - ()= Lo) -5
=] B oy
E(N:=2(-) -5 4(-5) = (-5)% +2(-)
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